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(/) Explain scope resolution operator (::) in
C—.
C++ @3 scope resolution operator (::)
et AT -

{.  Answer the following questions : 10x1=10"_

Meoa TRA TEF WIS !

(@) What is identifier ?
| ‘ (g) What is Queue ?

identifier 12
Queue I e

(b) Whatis the difference between ==and =in & (h) What are the two searching techniques

available in data structure ?
Data structure & 2% 72 AFICEE A @S
J B

C++?

cranmannie wanma aninfA arardinan

CHHaT® == '8 = 7 A 71 F?

() How does a class enforce data-hiding in 1 (i) What is Computer Network ?

C++? Computer Network 1?
Ci+ €& class €3fre data-hiding oI () Explain bandwidth.
AT A 22 Bandwidth <1 S |
d) Write one property of static data member. . !
@) itc one property ol siatl i 2. Explain the following questions : 2x10=20

Static data member & @5 45 ETCA| St aRE T S

() How while loop is different from do..while

RIS, " 9
(e) What is visibility mode 7 loop ? |
" visibility mode?_?f? While loop f@€It@ do..while loop CACF
7AF?
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(h) What will be the value of the following -
program segment ?
Soa program segment {67 ST & 73
for (i=10; i <=40; i+=10}

(¢) Write programming statements for the
following class.

B e Class @ programming fgfe e —

class bankaccount

{ {
t
k=1i/2; ' int accno ;
blic;
antf ("% d\n" k); /for cout<<k<<"\n" ; puplic;
pintf (Y0 bankaccount (bankaccount &p)// constructor 1
} { ,
y accno = p.aceno;
(c) = Differentiate between the following two }
statements. (Assume ‘time’ is class name bankaccount (inth) / constructor 2
and having parameterized constructor) {
R cre R aiva To A S (T Tt | accno =1p;
‘time’ class @O AN @ parameterized }
constructor ) }s
time T1 (10, 20, 30);/statement I (i) Create an object such that it invokes
constructor 1

time T1=time(30, 20, 10);//stateent I1 @%f5 object TR FITA ATS @bl

constructor | (¢ SNZ FA|

(i) Create an object such that it. invokes
constructor 2.

&5 object TEA T IS ol
constructor 2<% $Ig <A1

(d) What is the difference between public and
private members of a class ?

3 class @ public @ private member G
e AL e v

22T-CSCA-BENG 4
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i

(g)

(h)

Write a class definition called string with
two private data members called length and
name of type int and char respectively. There
are two public member function getdata ()
and display () and one constructor.

String A class @3B0 Y6 length @ name
AT private data member TR AR AW
type 206l IAFCH int € char | QAT Uil
getdata( ) @ display () IT public member
function €} @ constructor SMTE | Class b
AL (A |

State #wo conditions under which binary
scarch is applicable.

Binary Search &l are 9= 76 “@$
CeCAl |

Consider the following stack of characters

implcménted as an array of 8-clements.
{0 SoAMIE array 20 55 stack T (e

STACK{A|lJ|P|N
- ?

top

22T-CSCA-BENG 6
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0)

3. (a)

22T-CSCA-BENG ‘ 7

Describe the stack if the following
operations take place.

Stack ¢/t A, T NG (real FITR F= i
=

(a) POP (STACK, ITEM)
() PUSH (STACK, K)

Explain the concept of Bus Network
Topology with a block diagram.

Bus Network Topology 7 «i=ellit fbras sitzity

I A

Write two advantages of STAR topology.
STAR topology 715 R e csieai

Draw a flowchart to read a number and find
the sum of the digits. 3

GG TR AT Tl GG 241Z 5 SrEe S
g9e fefebafam @ fadk e
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(b) What will be the output of the following

4.
program segments ? - 3
Atod Program Segmentfoa (AT Ft TS
e AT ?
- main ()

{
int j=0;// zero
while (j <=30)
{.
cout <<j++<<"\n" ;

j+=3;

- h

(¢) Write a program in C++ to i-nput a number
through the keyboard and then to reverse
the number and to print it. 3

‘Keyboard 47 ARITT-GFB AT IR Sy
R 2[TF T T FT AR T C++ (O
@S0! program (ST

22T-CSCA-BENG 8
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() Find the syntax error (s), if any and correct
it. (Underline the corrected statement). 4

3T NOTTR T (@0E (I A T AUCE) wm
A TN (v 1’:@% underline )

contest class

{
int x,y;
contest () {}
contest () {x=10, y =20}
void disp ()
{ cout <<x <<y<<
}

b

main ()

{
contest a;
a.disp ()

}

Conta



() Consider the following class declaration and
answer the questions below : 4

A e class declaration & Rirea a6

e wa T wic |
class AUTHOR

(
t

char aname[30], it aid ;
public :
void recad() ;
void show() ;
L.
J
class PUBLISHER : public AUTHOR

{

protected :
char pname[30] ;
~ public :
void getpublisher( );
void disppublisher() ;
b
class BOOK : public PUBLISHER

{
1

int bookcode ;
char bname[30];
public :
void getbook() ;
void dispbock() ;
55

(c)

(i) Name the data members, which can
be accessed from: thec mcmber
functions of class BOOK.

Class BOOK @3¥ member function
WEd (AT access FACS I dala

member LT H @TCAT |

(ii) 4Namc the data members and member
functions, which can bc accessed by
an objcct of class PUBLISHER.

PUBLISHER class <9 object @6 |

access A0S 7IF G519 data member €
member function FNCEI N (10T |

Define a class to represent a STUDENT
with the following members. 4

A wed member 3fE W STUDENT €
&) @& class el AT |

Private members of class STUDENT

Class STUDENT @4 privatc member R
rollno, name, marks o MIL, English,
Physics, Chemistry, Maths, total.

(Use suitable data typc)

(ARarE data typé T FE)

CRAITIANMNYC W= Ql'llnﬂ 5lﬂlf'lllﬁ'\ L
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Public members of class STUDENT

7 w@awd (class STUDENT) public
member 92

readdata( ) : to rcad initial value
calculate( ) : to calculate total marks

disp() : to display information.

(d) Write a program in C-++ to print the factorial
of a given number using a constructor. 4
Constructor I KA AN 4o factorial
BT ol GI0) C++ Callal (Al

.Or / |

Write a C++ Program to generate the
following series of numbers. 4
AT FARA 2 (series) A FACS o C++-
GRS TRl | '
1 1,2.3 838 ¢...0u; N

(e) What is reference variable ? 2
reference variable e

22T-CSCA-BENG 12
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What is data encapsulation ?

Data encapsulation S ? s

Write the steps to scarch 34 using binary |

search in the following array A[7] 4

0 1 2 3 4 5 6
A |180] 70| 60| 50| 40| 34{ 30

X4 A[7]-9 Binary Scarch #/&(s J/&R I
34-99 AFHW FALS ATAIGAR AMTH2PTIE
G| '

Or / 9937

Write a program in C-++ to implement Binary
Search algorithm for N numbers stored in

an array.

NBI 7R A6 2l %jereTd @3 Binary
Scarch “I%fe qagla sadld Gy C+ (e
(1G4 |

Contd.



h. (o) Name different layers of OSI refcrence
model. 4

(b) Writc an algorithm to insert an ITEM o

information at K™ position in a single

OSI reference model @3 fifen wawmaa A

dimensional array A[UB] where K < UB.
CeTCal

The number of elements curreatly stored in

the array is N. 4 or / 98t

@jefe A[UB] 5 ITEM @36 K3 i (b) Describe the three basic types of cables.

©fé 0o ol (6T I K < UB | cable FTICER few/5 (e erbican el < |
QT #Wefsilbre N F32l Afes @itz |
Or / o9
Explain ‘Best Case’ time complexcity of
insertion or bubble sort.
: o T

Insertion 9! bubble sort €9 best case time
complexity N AT

-(c) Define TQP. |
TOP @9 #AE (&CRT |
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(/ What is the result of the expression

(GROUP-B)
(For Old Course) a>=b && (a+b)>aila=3, b=0?
( AT WITFCHT &) Tt a =3 @3} b = 0 W e [ wm

G ?
a>=b && (a+b)>a

7. Answer the following questions : 10x1=10

(g) Write 3 jump statements used in C++,

; C++ @ %@ [l jump RIFeT 0T A0 |
. (a) What is the difference between 'x' and "x'!

in C++?

C-++ @ 'x' @ X" g A1y 2

(h)  Determine the total bytes required to store
the int array A([23] : if the int size is 4

bytes. :
(b)) What do you mean by function ? A[23] €% int W= Farmd T0s ey
P FECS F (FRIA 2 1 TG byte @7 2 @9 e, I int T
: | I 4 byle ZH|

(¢) Evaluate b=(a++)+(++a) if a is 10
initially.
a I AAfES (FTS) WA 10 FET A0HA [Agreiva
AT (AT FA b=(a++)+(++a)

()  What is Topology ?
Topology JTA S 2

() Declare a structure in C++ with name, roll

(d) What are the 3 types of Computer Network ? number and total-marks as components.

TEE FReIET foulE oeE S 90 CA+-9 GFB! structure € ! (&0, =
' BIET e 20 — name, roll number @=% total-
(¢) What is a class ? marks.
class §?
22T-CSCA-BENG 17 " Cond,
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8.  Rewrite the following code fragments by usin
‘switch’. 2
e code M ‘switch’ TR 0 9= (ST |
char code ; :
cin >> code;
if (code = ='A")
cout << "Accountant" ;

else
if (code=='C" || code=='G")
cout << " Grade IV" ;
. ¢lse
if (code =="F")
cout << " Financial Advisor" ;

9. Find the output of the following program-— 2 :
s Trard T4 DT T @9 I —
void Execute (int & x, int y=200)

{ int TEMP=x+y .
x+ = TEMP;
if (y!=200)
coul << TEMP << xis<uy <5 endl

}

~void main ()
{ int A=50, B=20;
Exccute (B) ;
Cout << A << B << endl ;
Exccute (4, B) ;
Cout << A << B << endl;

-
22T-CSCA-BENG 8

10. Given an array 89, 20, 21, 56, 20. Sort this

array in-ascending order by using ‘Bubble
sort’, 3
SIS =@ Bubble sor’ Al 4ca Swfers
wr&la |

89,20, 21, 56, 20

Define Inheritance. Discuss its different forms.
‘ 1+3=4

Inheritance ST § ¢ 97 f[feq it ﬁammmm

I

Define a class play in C++ with the following
specifications. 4

AIts creat Il S CH+ -9 @I class play -9
A A

Privatc members

. Play Code integer

*  Play Title 25 character

. Duration float

*  No of scenes integer
Public members

. A constructor function to initialize Duration
as 45 and Noofscenes as 5

22T-CSCA-BENG 19 Coritd,



13.

14.

15.

22T-CSCA-BENG

«  NewPlay() function to accept values fo

. Moreinfo() function to assign the values o'

playcode and playTitle.

Duration and NoofScenes with the help 0
corresponding values passed as parameter
to this function.

«  Showplay() function to display all the data”

members on the screen.

What is the significance of access specifiers ina
class 7 2
Class «@f0e access specifier @@ A 2

Explain the differences between while and do-
while. 38

while @ do-while &% ¢ 7w F?

Consider the following circular queue capable of

accommodating maximum six elements. 4 |
ﬁmww a1 queue 5 RTI6AT S, GG
WATS Al BeiRIGR A 2 6 |
front = 2, Rear = 4, Queue : —, A, B, C, -
%

Describe the queue as the followmg, opcrat1ons |
take place. ;

fANfifs operation €F 7T Queuc 5 3= FA—

(@) Add N (b) Add Z (c) Delete two letters |

(d) Add M.ILL

20
1

|

:{22T~CSCA-BENG 21

Write the difference between Global class and
Local class. 2

Global class 8 Local class @3 #ii<ay (rahe |

Cons.ider the following code and answer the
questions (i) to (iv). 4
AItsa Code B3 fofeTs (1) A (1) 2R3 eprafm
Teq wls —
class MNC
{  char Cname[25];
protected :
char Hoffice[25];
public :
MNC() ;
char country|25];
void EnterData() ;
void DisplayData( ) ;
5
class Branch : public MNC
{ long NOE ;
char ctry[25];
protected :
void Association();

C'ontd



public :
Branch() ;
void Add():

void Show() ;
b
class Outlet : public Branch
{ char state[25];
“public :
Outlet();
void Enter( );

void Output();

(i) Which class constructor will be called first |

at the time of declaration of an object of
class Outlet ? ’

Outlet class 9 %6l object & dcclaratlon\ﬂ?l'
FICH (T class constructorBa HATH call A2

(ii) How many bytes does an objcct belongimg‘g

to class Outlet require ? 7.

Outlet class -4 ST @F{b Object GF Son
byte ~99 &N ? :

(iii) Name the member function(s) which arc.
accessed from object(s) of class Outlet.

class Outlet-€¥ object(s)-4 access W
member function(s) -CTd = (=TCAT| J

e W

22T-CSCA-BENG 22

(iv) Name the data member(s), which are
accessible from the object(s) of class Branch.

class Branch g object(s) ~49 accessible data
member({s) ~&4q w5 G| -

Expand the following terms — 2

', ]8.
o e T Awale eI @ —
(i) URL (ii) NIU
19. What is MODEM ? What is its different types ?
‘ 2
| MODEM F? «7 fifen aom Fi 2
20. Find the syntax error(s), if any, in the following
program : 3
e Srae Plogram ba CERUIG (aw A=) uﬁ
Al —
include <iostream, h>
void main ()
{ intx,y; cin>>x;
for (x=0;x<5, ++x)
cout y else cout <<x<<y;
22T-CSCA-BENG 23 Contd,
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(iti) Write all the member functions of the class

21. Consider the following class declaration and _ ,
along with their access scope.

answer the questions given below : Kf |
access scope &7 ACH class 67 I member

fofare ool Tag ne — function ¢TCRY |

. class Small obj

crnlanme waae aninff araidin

b - 22. Explain in brief the advantages of E-mail. 2
int some, more ; ) - T ARl R wifEg B me |
void err 1() -4 4
{ cout << "error"'; } 3 T L
- ; - . ; 9 :
. i at is Router ? Explain. 2
void x data (int d) Router St ¢ 344t 3|
{ some = d;
Hige = d++ 5} 24.  What is the full form of FIFO ? What is a FIFO
- void Ydata() : : list technically called? 1+1=2
cout << some < <" "< <more;}
| { FIFO =} sl (@0t | @35 FIFO Xemrss ifasif
55 | O S 4 7 e
(i) Write the name that specifies the above"jl
class. {‘ .
oIS class B N 37 _ ,l 25. Give postfix form of the following expression.
1 . 3
(ii) ;’(\:/;1[1)2 the data of the class with their access ’ A5 crent Fgfem Postfix w9 =10l
' ! A * (B+(C+D) * (E
access scope 7 FCH class B data @feT o0 | | (B ) * (E+F)/G) «H
| 22T-CSCA-BENG 25 Contd.
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26.

27.

22T-CSCA-BENG 26

# include <iostream.h>

What is the difference between protected af
private members ? Explain with example.
Protected ‘¢ Private member 9 ¢ ?ﬂQ@Tf-
TrRepTR Tt S| ‘

What will be the output. of the followil
program —

> oredt program -aF A (I FE —

class A { public : .
A() ‘

{ cout << " constructor A \n" 3 }

~AQ) : |

{ cout << " Destructor A \n" ; }-

B
class B
{ A obl, ob2;
public :

B () :

{ Cout << " Constructor B \n"; I

~B()

1

void main ()

{ B ob,;
A oa;

}

{ cout << " Destructor B \n"; |8

L.

28, Write an algorithm to scarch an element in an
\array by uging 'Linear scarch’. 2
HLinear Scarch' #4ifes AT Gl YR @36
[ BAMIA A0 (49 ¥4I G G algorithm (ST

1

29.  Write some characteristics of Destructor. 3
Destructor -7 g (TR fRac e
X
“'
22T-CSCA-BENG /1 27



